= k12l X2 X 2t o

eliexgd as WA (erer:aE)

SA - HH - S(E) - HMPAY - BES 01l o JlZ HimE=1
QI K= X 0t 2,289,184 1,849,956 439,228
=UHel = EXFX 238t 2,012,976 1,573,028 439,948
SNFX 85 &M 289,015 325,828 36,813
olel FX MYEE =& 107,849 126,000 18,151
202 04 47,600 56,000 A8,400
03 =204l 47,600 56,000 28,400
OHAAIZ HEAIY =& 47,600 56,000 28,400
301 2etgas 18,443 20,000 A1,857
07 gI2tel=20it| 18,443 20,000 A1,557
OZ XA 2l EENYE 18,443 20,000 1,557
307 212+0| ™ 41,806 50,000 A8,194
04 BIZHHAIE X 41,806 50,000 A8, 194
OZXIAL o2l EEMEE 41,806 50,000 A8, 194
SNz s = 181,166 199,828 A18,662
201 L2 88,254 100, 441 A12,187
01 At=2elsl 62,754 70,441 AT,687
OEZHEZX2AM| 22,313 30,000 NT,687
O MUK EZ2MEES Y 2AZH| 22,313 30,000 NT,687
03 A2 25,500 30,000 24,500
OF =Xl 9&al ot 25,500 30,000 24,500
203 2 =8| 4,800 6,000 A1,200
03 AIM=XHR=ZAIH| 4,800 6,000 A1,200
OHZZHE FRa) |2 RS 4,800 6,000 21,200
301 22 = 15,017 16,400 A1,383
10 HAAHIZ24=S 3,029 3,400 A371
OX22=22 At AHl2d 3,029 3,400 A371
12 JIEtE4=s 11,988 13,000 A1,012
OFXNRA =22 =29 11,988 13,000 A1,012
307 212t01 ™ 46,108 50,000 A3,892
04 QIZHHAIE X 46,108 50,000 23,892
OF Xt &sl I 46,108 50,000 A3,892
dsd D2 HE Y 1,723,961 1,247,200 476,761
ZZHE =X 223,961 247,200 A23,239
207 &1 OHEH| 178,175 200,000 A21,825
01 H2E9HI 178,175 200,000 A21,825
ORYZEN ENAE £2=2EY 178,175 200,000 A21,825
301 detEa= 11,360 12,400 A1,040
08 <2YI=H0OH 9,222 10,000 ANTT8
ORXUs XA =3 9,222 10,000 NTT8
10 FAMHIZEAS 2,138 2,400 N262
OZZME FXI2HIIY)Ql AHI24 2,138 2,400 N262
310 =2/0|™ 4,426 4,800 A374
02 =H=g= 4,426 4,800 A374

- 362 -




S M TSR
a2l 2 SXNRA 23 ]
ChoFMetx meME Jju (S 5e)
S - B GA(BH) - NRAY - B2 Ofl & ot 1= HRE2
FEENE EEEEEEEET 4,426 4,800 N374
2= AEEX JBtEL X 1,500,000 1,000,000 500,000
306 EA= 1,500,000 1,000,000 500,000
01 E¢3 1,500,000 1,000,000 500,000
OB =0 SXIIY LThA
= 48 1,500,000 1,000,000 500,000
A 2AHH| (L XF XD 66,033 66,753 AT20
Jl=3H| 17,521 18,241 AT20
SHE2g Jl=A| 17,521 18,241 AT20
201 g2 gyl 12,041 12,221 A 180
01 AtR22ldl 9,484 9,664 2180
FHM2Z ARl 9,484 9,664 A180
202 O4d| 4,027 4,320 2293
01 =Ucbl 4,027 4,320 A293
O=A2Y 2UH0i) 4,007 4,320 £293
405 KpoHE S 1,453 1,700 AN2A4T
01 R ESFSHI 1,453 1,700 VAVZiY4
O 253 500 A24T
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